ANFNESEE-_ERBILELBEBARTRTIHR X

B ] % R #+ 3|
8:30 AR EHEE (CLOSE BOOK)
{
l ALEH 2 (OPEN BOOK)
10:10 A% & H H (CLOSE BOOK)
- 10:20 A XA ITRE ( CLOSE BOOK )
| AT #EWY ( CLOSE BOOK )
12:00 A G & LA ~ (OPEN BOOK)
12:40
| A% EH R (CLOSE BOOK)
14:20

. Zxa 89434318 (ZME)
cd B ERAAEGCHT
- FREFRFELEE -



STEEL STRUCTURE

1. A truss structure shown in Fig.1 is subjected to dead and live loads. Let
P=Pycad 10a¢=50 kips and P=Pyjve 10a¢=70 kips. Please design member using ASD
method only.
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2. Design the member to carry an axial compression and biaxial bending, as shown in
Fig.2 using ASD method. The member is A572 Grade 50 steel.

3. Design the member to carry an axial compression and biaxial bending, as shown in
Fig.2 using LRFD method. The member is A572 Grade 50 steel.

4. Find the maximum P of the structure in Fig.3. The structural steel is A572 grade 50
(Fy=50ksi, Fu=70ksi) and bolt diameter is 5/8“. If the bolts are the (1) bearing type
(A490X). (2) Slip-critical type (A490SC). You need to check the capacity of the
double angles. Do not check plates of the W10x77 column (t=0.87").

F, = /54> —182f,% , Tb=15 kips, Fv=21 ksi for A490SC, Fy=40 ksi for A490X, and
F=54 ksi. Please only use ASD method.
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